

Compatible system of first-order Equations:-

Consider the following first-order partial differential eqns

$$f(x, y, z, p, q) = 0 \quad \text{--- (1)}$$

and $g(x, y, z, p, q) = 0 \quad \text{--- (2)}$

then eqⁿs (1) and (2) are known as Compatible when every solution of eqⁿ (1) is also a solution of eqⁿ (2).

Condition for (1) & (2) to be Compatible:-

Equations (1) & (2) are Compatible if

$$[f, g] = 0,$$

where

$$[f, g] = \frac{\partial(f, g)}{\partial(x, p)} + p \frac{\partial(f, g)}{\partial(z, p)} + \frac{\partial(f, g)}{\partial(y, q)} + q \frac{\partial(f, g)}{\partial(z, q)}.$$

$$\frac{\partial(f, g)}{\partial(x, p)} = \begin{vmatrix} \frac{\partial f}{\partial x} & \frac{\partial f}{\partial p} \\ \frac{\partial g}{\partial x} & \frac{\partial g}{\partial p} \end{vmatrix},$$

$$\frac{\partial(f, g)}{\partial(z, p)} = \begin{vmatrix} \frac{\partial f}{\partial z} & \frac{\partial f}{\partial p} \\ \frac{\partial g}{\partial z} & \frac{\partial g}{\partial p} \end{vmatrix}$$

$$\frac{\partial(f, g)}{\partial(y, q)} = \begin{vmatrix} \frac{\partial f}{\partial y} & \frac{\partial f}{\partial q} \\ \frac{\partial g}{\partial y} & \frac{\partial g}{\partial q} \end{vmatrix}$$

$$\frac{\partial(f, g)}{\partial(z, q)} = \begin{vmatrix} \frac{\partial f}{\partial z} & \frac{\partial f}{\partial q} \\ \frac{\partial g}{\partial z} & \frac{\partial g}{\partial q} \end{vmatrix}$$

Example 1: Show that the equations

$$xp = yv, \quad z(xp + yv) = 2xy$$

are compatible and solve them.

We may take $f(x, y, z, p, v) = xp - yv = 0$ — (1)

and $g(x, y, z, p, v) = z(xp + yv) - 2xy = 0$ — (2)

Eqns (1) & (2) are compatible if

$$\frac{\partial(f, g)}{\partial(x, p)} + p \frac{\partial(f, g)}{\partial(z, p)} + \frac{\partial(f, g)}{\partial(y, v)} + v \frac{\partial(f, g)}{\partial(z, v)} = 0 \quad \text{--- (3)}$$

$$\frac{\partial(f, g)}{\partial(x, p)} = \begin{vmatrix} \partial f / \partial x & \partial f / \partial p \\ \partial g / \partial x & \partial g / \partial p \end{vmatrix} = \begin{vmatrix} p & x \\ pz - 2y & 2x \end{vmatrix}$$

$$= pz - 2xy - 2xy + 2xz = pz - 4xy + 2xz$$

$$\boxed{\frac{\partial(f, g)}{\partial(x, p)} = 2xz}$$

$$\frac{\partial(f, g)}{\partial(z, p)} = \begin{vmatrix} \partial f / \partial z & \partial f / \partial p \\ \partial g / \partial z & \partial g / \partial p \end{vmatrix} = \begin{vmatrix} 0 & x \\ xp + yv & 2x \end{vmatrix}$$

$$\frac{\partial(f, g)}{\partial(z, p)} = -x^2p + xyv$$

$$\frac{\partial(f, g)}{\partial(y, v)} = \begin{vmatrix} \partial f / \partial y & \partial f / \partial v \\ \partial g / \partial y & \partial g / \partial v \end{vmatrix} = \begin{vmatrix} -v & -y \\ vz - 2x & 2y \end{vmatrix}$$

$$\boxed{\frac{\partial(f, g)}{\partial(y, v)} = -2xy}$$

(3)

$$\frac{\partial(f, g)}{\partial(z, v)} = \begin{vmatrix} \partial f / \partial z & \partial f / \partial v \\ \partial g / \partial z & \partial g / \partial v \end{vmatrix} = \begin{vmatrix} 0 & -y \\ x/p + yv & zy \end{vmatrix}$$

$$\boxed{\frac{\partial(f, g)}{\partial(z, v)} = +xy + y^2v}$$

then

$$\frac{\partial(f, g)}{\partial(x, p)} + p \frac{\partial(f, g)}{\partial(z, p)} + \frac{\partial(f, g)}{\partial(y, v)} + v \frac{\partial(f, g)}{\partial(z, v)}$$

$$= 2xy - x^2p^2 - xyvp - 2xy + xy/pv + y^2v^2$$

$$= y^2v^2 - x^2p^2$$

$$= (yv + xp)(yv - xp)$$

$$= 0$$

{ as from eqn (1)

$$xp - yv = 0 \quad \text{or } xp = yv$$

Hence, the eqns are compatible.

Now, solve eqns (1) & (2) for p & v .

we get

$$p = y/2 \quad \text{and} \quad v = x/2$$

and

$$dz = p dx + v dy$$

$$dz = \frac{y}{2} dx + \frac{x}{2} dy$$

or

$$2 dz = y dx + x dy$$

Integrating

$$\boxed{z^2 = C_1 + 2xy}$$

where C_1 is a constant.

4

Exercise: (1) Show that the equation

$$x(p - yq) = x \text{ and } x^2 p + q = xz$$

are compatible and find their solution,

(2) Show that the equation $z = px + qy$ is compatible with $2xy(p^2 + q^2) = z(yq + xp)$ and find their solution.

(3) Show that the eqns $f(x, y, p, q) = 0$, and $g(x, y, p, q) = 0$ are compatible if

$$\frac{\partial(f, g)}{\partial(x, p)} + \frac{\partial(f, g)}{\partial(y, q)} = 0.$$

Verify that the eqns $p = P(x, y)$ and $q = Q(x, y)$ are compatible if

$$\frac{\partial P}{\partial y} = \frac{\partial Q}{\partial x}.$$